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PG (CBCS)
M.SC. Semester- IV Examination, 2023

FISHERIES SCTENCE
PAPER: FSC 402

(FISHERIES STATISTICS AND RESEARCH METHODOLOGY & FISHERIES
LEGISLATION, COMPUTER AND BIOINFORMATICS)

Full Marks: 40 Time:2 Hours

h#
Write the anslver for each unit in separate sheet

The figures in the right-hand margin indicate full marks.
Candidates are required to give therr ansrvers in their orvn words as far as practicable.

UNIT:402.1
FISHERIES STATISTICS AND RESEARCH METHODOLOGY

F.NI. - 20

GROUP.A

l. Answer any TWO of the follor.ving questions: 2. ):4
a) Distinguish between continuous and discrete variables with examples.

b) What is the basic difference between student's t-test and paired t-test?

c) Cite a situation when the study of correlation between 2 variables has no practical

s igni ficance.

d) What is hypothesis? Mention its imporlance.

GROUP-B

2. Answer any TWO fion.r the follor.ving questions: 2x4:8
a) Determine correlation coefficient between 'x' and 'y' from the following data and

state whether the data indicate that'x' and 'y' are independent ofeach other.indicate that 'x' and 'y' are

Xi -., _') -1 I 2 J

9 4 1 1 4 9

b) Somestudentscollectedearthwormsfrom I0different,smallplotsofuniformsize,
of a grassland. The number of earthr.l'orms obtained fronr those plots are shown in

the table below. Examine the distribution pattern of earthworms. [Given that X2
(0.05) (e):16.e21.

(1)

Plot No. I 2 J 4 5 6 7 8 9 l0

Earthworms 25 32 17 23 t5 34 27 t9 22 26
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